Soustraction Avec Un Zéro (C)

40
- 28

50
- 20

300
- 183

600
-575

30
- 14

50

60
- 32

Calculez la différence.

80 60
-17 - 28
400 900

- 318 - 304
300 10
- 28 -4

70 80
-63 - 34
100 20
-22 -1

20 40
-15 -10

70 40
-52 - 37

300
-97

80
- 47

500
- 40

600
- 580

400
- 277

200
- 146

200
-102
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Soustraction Avec Un Zéro (C) Réponses

Calculez la différence.

40 80 60 300
- 28 -17 - 28 -97
12 63 32 203
50 400 900 80
- 20 - 318 - 304 -47
30 82 596 33
300 300 10 500
- 183 - 28 -4 -40
117 272 6 460
600 70 80 600
-575 -63 - 34 - 580
25 7 46 20
30 100 20 400
-14 -22 -1 - 277
16 78 19 123
50 20 40 200
- 8 -15 -10 - 146
42 5 30 54
60 70 40 200
-32 -52 - 37 -102
28 18 3 98
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